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Notes
(a)
B1: Correct range. Allow f (x) or f fory. Allow e.g. {yeR: y < 7}, —o0<y <7, (-»,7]
(b)

M1: Full method to find f (1.8) and substitutes the result into g to obtain a value.
Also allow for an attempt to substitute x = 1.8 into an attempt at gf (x).

C3(1-2¢) 3(7—2(1.8)2)
=9 gf(X)_5(7—2X2)—1_5(7—2><(1.8)2)—1

Al: Correct value

(c)

M1: Correct attempt to cross multiply, followed by an attempt to factorise out x from an xy term
and an x term.
If they swap x and y at the start then it will be for an attempt to cross multiply followed by an
attempt to factorise out y from an xy term and a y term.

Al: Correct expression. Allow equivalent correct expressions e.g. — ,1+ 3
3-5x 5 25x-15

Ignore any domain if given.




